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SM-BH-H2A(FAH) - MIRAY - BES 0 Ak oH @;OH Hl = 2k
DAE 72,112 71,440 672
HHESAAH(ZMH) 72,112 0 72,112
olad 2 11,500 0 11,500
ZANHoIE2AY| 11,500 0 11,500
203 HRF=EY| 11,500 0 11,500
01 JI2AS2IYRFAH| 7,900 0 7,900
OZNE IS P2ETY|
7,900,0008 * 122 7,900
02 HAJMARFXH| 600 0 600
OZMEH FIJMM RFAY|
40,0002 * 159! 600
04 ENSIHLRFZAHI 3,000 0 3,000
OZME RASALLFA
250,000& = 19 = 12& 3,000
J| =23 60,612 0 60,612
ZANEI 2B 60,612 0 60,612
201 LEtEAY| 18,207 0 18,207
01 AFRZ2/H 18,207 0 18,207
Olger24|] 14,994
ORAN2Y SHH A 14,994,0002 * 1Al 14,994
OS] 3,213
ORAN2Y SHH A 3,213,0002 * 14l 3,213
202 Ol 41,355 0 41,355
01 22U 5,355 0 5,355
O[=2Wodbl] 5,355
EN2Y SHAHA 5,355,000& * 14 5,355
02 MO Y| 36,000 0 36,000
OZMNH SUAHA 200,0002 * 1501 » 12% 36,000
405 KHAHESHI 1,050 0 1,050
01 Tt ESEFSH 1,050 0 1,050
OZANH 25 2] 1,050,000 » 1Al 1,050




